BROE B E OB OFE R (B kEgeiisaE THXS 3k
T il pall Bl A VAR B s
+T
IRAE m® 0.3
R m® 0.0
HH R m® 1.0
sy m® 0.3
it T
By a8 it D L—/L DI m 13.0
Y2 O] L—L D m 17.0
By it . L—/L DI m 25.0
By T @ L—L D m 11.0
Bya& Mt ® L—/L DI m 5.0
Byt T© L—L D m 17.0
Bl it D L—/L DI m 5.0
s 5 LE i H=1. Im m 7.5 | HREESCATAT (6. 0+1. 5)
5 P4 B LAt H=1. 1m m 3.0 | WETUBER (R T2 #
A 1 L1000-H650 & 4.0
ENETEC
BN W=15cm m 104.0
kT
EHAERRE T m 8.0
SRR - A5y el 0.5
Z m3 0. 02
AsHIFL fL 4.0 HE B 1A
BN EES m 83.0




+T 1 AT Y

T M - M H R =« HAL -l ] L2

AN T — T

PR 1 0.250 * 0.250 * 0.300 * 2
m3 0. 038
i = 0.038 — 0.250 * 0.250 * 0.050 * 2 -
0.250 * 0.250 * 0.250 * 2 m3 0. 001
oom ¥ E 0.250 * 0.250 * 2

m3 0.125




231 77— L1000

L AT 0
T fE oH H = HAL % &= fi B2
a7 V) — 1§ (10.250 * 0.250 * 0.250 — 7 * 0.061 ~ 2 /
18-8-40BB | 4 % 0.250 ) * 2 m3 0. 030
v} e 0.250 * 0.250 * 8
i 0.5
%k O# o om oA 0.250 * 0.250 * 2
t=5cm m 0.1
Al D) 77 —
L1000-H650 A 1.0




231 J7— L2000

L AT 0
T fE A B X HAL % &= fi g
a7V — 1§ (10.300 * 0.300 * 0.250 — 7 * 0.061 ~ 2 /
18-8-40BB | 4 % 0.250 ) * 2 m3 0. 044
it} e 0.250 * 0.300 * 8
nt 0.6
B S S ) 0.400 * 0.400 * 2
t=10cm m 0.3
as D) 77 —
L.2000-H650 A 1.0




I

15D
T fE A H 2V HAL K ] B2
a4 R W W 0.250 % 4 % 8 XY 7 —11000
t=4cm m 8. 000
LS IR I - ALy 0.250 * 0.250 * 8
nt 0. 500 0. 02m3
A s HI L WY& B LAl A @ 60. 5 AR
fi& FIT 2. 000
X ®Of O £
m 83. 000




DX [ R T 13434 Y
T Fi I L = ==X (VAT = fE C:
X JH] R

i - 555 - W=15cm m 104. 000




et T L=13. Om B
T B - M H =1 = HAL K = fE E:d
Gr-C-2BS
B — A (2. 3%350%2360) b'e 4. 000
il B — A (2. 3%382%660) by 2. 000
AL (M16X35) | 64 /FFT * TMPT 42. 000
AL~ (M20 X 145) 7. 000
TS5y 1 7.000
BESR AR L M FLBEIFL L 7. 000
Gr-C-4E

B — A (2. 3%350 % 4330)

%




PiEilt T L=17. Om B
T B - M H =1 = HAL K = fE E:d
Gr-C-2BS

B — A (2. 3%350%2360) b'e 8. 000
il B — A (2. 3%382%660) by 2. 000
AL (M16X35) | 64/FFT * 9 PT 54. 000
AL~ (M20 X 145) 9. 000
TS5y 1 9. 000
BESR AR L M FLBEIFL L 9. 000




PRt T 1=25. Om B
T B - M H =1 = HAL K = fE E:d
Gr-C-2BS

B — A (2. 3%350%2360) b'e 12. 000
il B — A (2. 3%382%660) by 2. 000
AL (M16X35) | 64 /EAT * 13T 78. 000
AL (M20 X 145) 13. 000
77> b e 13. 000
BEER AR L R FLET L L 13. 000




el T@ L=11.0m B
T B - M H =1 = HAL K = fE E:d
Gr-C-2BS

B — A (2. 3%350%2360) b'e 5. 000
il B — A (2. 3%382%660) by 2. 000
AL (M16X35) | 64/#FT * 614507 36. 000
AL~ (M20 X 145) 6. 000
TS5y 1 6. 000
BESR AR L M FLBEIFL L 6. 000




PEtlt TG 1=5. Om st
T B - M H =1 = HAL K = fE E:d
Gr-C—4E
B — A (2. 3%350%4330) b'e 1. 000
B — A e 2. 000
A~ (M16X35) 6A/ AT * 2f5 T 12. 000
AL~ (M20 X 145) 2. 000
74w b e 2.000
BESR AR L M FLBEIFL L 2. 000




sl T® L=17. Om B
T B - M H =1 = HAL K = fE E:d
Gr-C-2BS

B — A (2. 3%350%2360) b'e 8. 000
il B — A (2. 3%382%660) e 2. 000
AL (M16X35) | 64 /FFT * 9 or 54. 000
AL~ (M20 X 145) 9. 000
TS5y 1 9. 000
BESR AR L M FLBEIFL L 9. 000




PEtlt T 1=5. Om st
T B - M H =1 = HAL K = fE E:d
Gr-C—4E
B — A (2. 3%350%4330) b'e 1. 000
B — A e 2. 000
A~ (M16X35) 6A/ AT * 2f5 T 12. 000
AL~ (M20 X 145) 2. 000
74w b e 2.000
BESR AR L M FLBEIFL L 2. 000




HR 7% Lh 1Al T Bl
T fE il ! ) 2y H7 3 ® i L
BRI A
PZ-1.4-11C m 7.500
B T & Hi
(K& TR E G RR) m 3. 000




N — BT

PRYE 8 X 0.0375 = 0.300 m3
HR 8 X 0.0006 = 0.004 m3
e 8 X 0.125 = 1.000 m3
s U san 0.3 —  0.004 = 0.9 — 0.30 m3
BhREHI TABHEEF &
T B Gxi“_i_iE G;TE_iB e — A (M?;/;SE) @Efiﬁm 777k
(o) (o) (o) (%) (£) ()
) 1.0 4.0 2.0 42.0 7.0 7
@) 8.0 2.0 54.0 9.0 9
® 12.0 2.0 78.0 13.0 13
@ 5.0 2.0 36.0 6.0 6
® 1.0 2.0 12.0 2.0 2
® 8.0 2.0 54.0 9.0 9
@ 1.0 2.0 12.0 2.0 2
& &t 3.0 37.0 14. 0 288.0 48.0 48




	数量計算１
	数量計算２
	数量計算３

